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The figures in the margin indicate full marks
for the questions

1. Choose the correct answer ; 1x10=10

W7 Geqeo! q1fe Sfene -

fa) The validity of an argument is dependent on
the content of the argument/form of the
argument/both content and form of the
argument.

e @R [re Ieor  Reweg/Ieor
HFE/[EaE Wi WRE [@E $uFe e
T |
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(2)

(b) The conclusion of an inductive argument/
deductive argument is always probable.

GO SRR IR/ Fnee Ifes Praren
A ST |

(c) Syllogism is an immediate deductive
inference/mediate deductive inference.

TR @GO S R SR/ Fege
RCRICE

(d) DISAMIS is the valid mood of first
figure/second  figure/third  figure  of

syllogism.
DISAMIS =i 2%® g /SR ke /oo
SREFE ¢34 TS |

(e) The Venn diagrammatic representation of
traditional E proposition/I proposition/
O proposition is SP #0.

A q=oF1e E I64/1 54/ 0 674 (SAdary i
5% SP #0.

(/) An empty set is expressed through the

symbol €/ A.
9ol % <3S € / A 527 T2 omm a7 27 |
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(3)

{g) While drawing interlocking circles in Venn
diagram, X is used to indicate the region
which is empty/non-empty.

(Soa RS @S A1 TS J@ A
T, @ X/ TR W AR X
TS A |

(h) If Ais a subset of B, then it is represented as
ACB/A€B.

™ A, B3I TP =W, GRB W
Ac B/Ae B3 2o CARH I91 7 |

(i) The figure of a syllogism is determined by
the position of the middle term/minor
term/major term. .

TEA R @9 /TN NGTR S
SR ffifee 27 |

(/) 'In Boolean system, FELAPTON is a
valid/invalid mood.

e “afoTcs FELAPTON «51 G34/%tad
S |

2. Answer the following : 2x5=10
were freared Teq fr

{a) Define argument.

s s fi

20A/584 ( Turn Over )



(4)

(b) What do you mean by simplification of

proposition?
o4 SRARF ferce 6 e e
(c) What is immediate inference?
ST S 2
(d) Give example : Venn diagram.
Trrzaet frn oA o
(e) Define set.
Iigefeq Siga
3. Answer any four of the following : 5x4=20
oS frl i e Bife Ted fof

(a) Write a short note on argument form.

e SR [ac afb o9 Gt foran |

(b) Distinguish between deductive inference
and inductive inference.

O S W S S Ame 2
ol A par |
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(S)

(¢) What are the rules of categorical syllogism?
Explain.

faeers R R 1, 9 3

(d) What is Venn diagram? How traditional A,
E, I and O propositions are represented with
the help of Venn diagram?

oo 7 s/~[@ee A, E, 1 9F O
GRS (SADGT IS (TN SR 41
=, 0

(e) Who was the pioneer of the concept of set?
Distinguish between subset and superset.

e2fS YRR AGFORT (FH? TS wIF
Sftoicafed TS e ey w41 |

(ff What do you mean by set membership?
Explain with examples.

eafeq Terel e [ @2 TR e
RIsHISEIN

4. Why are arguments said to be different from
argument forms? Explain with examples. 10

I Ifeq TR [ R e I e o=
Trr=aed (TCe T4 40
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(6)

Or / 9211

Explain the relation between truth and validity. 10
Hefe] S (4O TS {1 H=AFCET <5 1 |

5. Explain with examples the fallacies associated
with the rules of syllogism. 10

TRIT IS TRR OIS &S (TR 0 4 |
Or / g=1

Translate the following sentences into logical

proposition : 2'2x4=10
OO g1 AEPHR OFREPTIS Tomle] T 4
(A/E/1/0)

(a) Every mother is loving.

TSR] AP, T |

{b) Any man cannot be poet.

R @I 22 IR 29 E@Ewd |

{c) Most of the members are present in the
meeting.

ST A2, Tl A% =g |

(d) Virtuous alone are happy.

@3 4ifTRCE2 3 |
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(7)

6. Explain with example the Venn diagrammatic
technique to test the validity of syllogism. 10
(SIA &S] TRAS (AR I SEFR CqEel
21 49+, TrraeR (e T 9 |

Or / g1

Prove the validity of the following syllogistic
arguments with the help of Venn diagrams : 10

0TS
G

(@)

(b)

20A/584

fran “wnfie YfeeTgza el cefoad Siwe 2

Some philosophers are mathematicians.

All scientists are mathematicians.

.". Some scientists are philosophers.

forgam w28 SRR |
SRecE] el 20 SRR |

- Regam et =5 e |

All humans are mammals.

No humans are cats.

.. No cats are mammals.

SeceTl W2 28 Tl &l |
(RN TE = RS |

", GRICT (A 7= Gl &K |
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(8)

7. Explain different operations on set with suitable

examples. 10
e T e et f[fen afermz <
ESIN!

Or / F[7
Symbolize the following statements by means of
set notation : 2x5=10
oo il TSR e ey TRHe JeeNe w0
M 90 :

(a) All philosophers are logicians.
SFRC Ao 2 S |

(b) Some mathematicians are not logicians.
o Sl 7= SR |

(c) No horses are cows.
CRICAT CHET 2 91 |

(d) All Americans are clean and strong.

el SRR 28 AfRzR we «fena) |

(e) Some Indians drink both coffee and tea.

forgam SRoRE S S B2 YCAHT 4R |

* %k
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